
SPECIFICATIONS 

Wall Mounting Holes: 
Four 0.28-inch diameter clearance holes 
adjustable to fit FR12-2 and Pl100 
enclosures 

Enclosure Mounting Holes: 
Two 0.28-inch diameter clearance holes on 
"L" brackets 

Material: 
Cold rolled steel 

Finish: 
Black paint 

Net Weight: 
2.9 kg (6 lb 7 oz) 

Shipping Weight: 
3.6 kg (8 lb) 

DESCRIPTION 
The WCB-1 wall/ceiling mounting bracket kit 
is designed to permanently mount Electro­
Voice Models Pl100 and FR12-2 speaker 
systems. 

The WCB-1 allows the system to rotate about 
the cabinet mounting centers to permit 
angular adjustment after mounting on a wall 
or ceiling. A locking screw is included to 
stabilize the system in its final position. 
Although simple in design, the WCB-1 allows 
the FR12-2 and Pl100 to be mounted in 
almost any position so as to obtain the 
desired sound coverage. 

MOUNTING 
The WCB-1 supports the FR12-2 or Pl100 
with two %-20 hex head screws which fasten 
the bracket to threaded inserts in the 
cabinets. Two sets of mounting screws are 
included with the WCB-1. The longer screws 
are intended to be used with the P1100. 

The WCB-1 is designed to mount on the 
center set of inserts on the long dimension of 
the Pl100 enclosure; and, also to mount on 
the center set of inserts on the FR12-2 on 
either the long dimension or the short dimen­
sion. To access the inserts on the FR12-2, 
remove the cap plugs concealing the inserts. 

Holes are spaced on the "L" brackets and 
channel of the WCB-1 to provide the correct 
spacing between the "L" bracket arms and 
the FR12-2 short and long dimensions and 
the Pl100 long dimension. The widest spac­
ing is used with the P1100. Since the correct 
spacing is predetermined by the WCB-1 
bracket, the bracket would normally be 
mounted by itself, with the enclosure install­
ed later. Four %-inch diameter lag screws 
are recommended for securing the bracket 
to the wall or ceiling. 

Figure 1 shows the WCB-1 bracket position­
ed on the Pl100 center inserts. Figure 2 
shows the WCB-1 positioned on the center 
inserts of both the long and short dimensions 
of the FR12-2. 



~ 
o 

r 1/4-20 x 1·1/2 HEX. WASHER HD. SCREW 

{ f"'" 1/4-20 x 1/2 HEX. HD. CAP SCREW 

i 1 WCB·1 BRACKET 

FIGURE 1 - Mounting Position on the PI100 

o 

o 

o 

1/4-20 x 1/2 HEX. HD. CAP SCREW~ 
1/4-20 x 1·1/2 HEX. WASHER HD. SCREW 

SHOULDER WASHER (38712) ......J."", u 
...e:a I "" ~'====I\ '.J 

o 

= /--1 
J. / ci=n =;, 'j===7:=dJ 
1..//' ~ A 

WCB·1 BRACKET 

FIGURE 2 - Mounting Position on the FR12·2 

I Et I ELECTRO-VOICE, INC., 600 Cecil Street. Suchanan. MIchIgan 49/01 
® .. 

_M_A_NU_F_AC_T_UR_'N_G_P_LA_N_TS_A_T ___ B_UC_H_A_NA_N_' _MI ___ N_EW_PO_R_T' _TN_, _ SEVIERVILLE. TN _ OKLAHOMA CITY, OK _ GANANOOUE. ONT 
© Electro-Volce. Inc. 1990 • litho In U.S.A. Part Number 530362-828 a MARK IV compony ___________ ..... 


	EV WCB-1 info front 
	EV WCB-1 info back 

